6. a) The acceleration is constant, so we may use the equation relating velocity,
acceleration, and time for the case of uniform acceleration.

v =V, + at
v =0m/s + (20m/s?)(5.0s)
v = 100m/s

b) The acceleration is constant, so we may use the equation relating distance,
initial velocity, acceleration, and time for the case of uniform acceleration.
In this case, the car is initially at rest, so the initial velocity is zero.

d= v, t + (12)at
d=(0m/s)(5.0s)+(1/2) (2.0m/s?) (5.0s)
d=0 + (1.0m/s? (25.0s9
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